www.bdeetv.com Iny

Installation Instruction

Dual LCD LED Monitor Desk Mount Stand

(B D)E)E)

s anaings 3 aa (Wures-uau) wuuiinuaulay
BDEE ;;u MS-331T

- Mg wiuaansaanaiinnd 3 a0 wulfzwieu

- winzAuaanafimasauiaaus 13-27 7

- sasfuihwiin saa: 5 Alansu

- sasfugudvaanaiiinad 7.5x7.5 4.4. uaz 10x10 4.u.

- gnsoAnaeld 3 wuy newuudavaulds Saaaeuuldy waziasudasiasaauaclss




Supplied Parts List

(1)Pole-a (nHcr Clamp b (1)C” Clamp Brace-c  (1)Monitor Arm .d1
LN waandduvauldy DR TERT
(1)Monitor Arm-d2  (2)VESA Plate-e1 (1)VESA Iate-.e2 ) Nut-f1
wausuaaLAEY VWANIUADA waniuaatdan ﬁamnuuauhnu eldud
(2)M8x12 Bolt-h & )M10 Bolt-

g Y

@ \’

(1)Grommet Base

(1)Support Plate-j  (1)M10 Washer-k (1)Spring Washer-|

wansaslglds WU unIuauds mﬂlzlitf“r?u g
(2)Wire Clip-n1 (4)Wire Clip-n2 (1)Allen Key-o 1)Wrench-p
“asaudns wa95aaas Lﬂ‘%mua
(12)M4x12 ) ; )
Thumb Bolt-q (12)M4x30 Bolt-r (12)M4 Spacer-s 1)Soft Pad-t1
S AL TUI S 18 LW ANS U RIS e wHusaAUsaL

N3SASAILYT

(1)Soft Pad-t2
WNUSRNAUSDY




Install the Pole to the Desktop

Option A: Desk Clamp Install

1. Install the “C” Clamp Brace(c) to the Pole
(a) using 3pcs M5x14 Bolts(g), and tighten
using the Allen Key(o),see Figure 1.

2. Attach Soft Pad(t1) to the “C” Clamp Brace
(c), see Figure 2.

3. Install the “C” Clamp(b) to the pole
assembly according to the thickness of the
desktop. The thickness can be changed to
three positions. Connect it using 2pcs M8x12
Bolts(h), and tighten using the Allen Key(o).
Tighten the “C” Clamp to the desktop using
the plastic knob, see Figure 3.

wuuh 1 nsdsdsnuuiiaduaaulsfe

dwaandundsznudnalady BanssAu
ﬁmmmﬂmwm AuAuvunvaslfy

Option B: Grommet Base Install

Existing Grommet Hole Installation

If the existing grommet hole comes with a
plastic protector, remove it to ensure a flat
surface before installing the desk mount.

1. Install the Grommet Base Plate(m) to the
Pole(a) using 3pcs M5x14 Bolts(g), and
tighten using the Allen Key(0), see Figure 4.

2. Attach Soft Pad(t2) to the Grommet Base
Plate(m), see Figure 5.

3. Position the Pole(a) on the mounting
surface and secure using the Support Plate
(i), M10 Washer(k), Spring Washer(l) and
M10 Bolt(i). Fasten the M10 Bolt using
provided Wrench(p), see Figure 6.

wuud 2 nisiadsiulAsiidasagud




Install the Pole to the Desktop

Self Drilled Grommet Hole Installation

Option C: Grommet Base Install a

1.Position the Pole(a) on the mounting
surface and mark the center hole. Drill a 3/8"
(10mm) diameter hole at the marked
position through the mounting surface.

2. Install the Grommet Base Plate(m) to the
Pole(a) using 3pcs M5x14 Bolts(g), and
tighten using the Allen Key(o), see Figure 7.

3. Attach Soft Pad(t2) to the Grommet Base
Plate(m), see Figure 8.

4. Position the Pole(a) on the mounting
surface and secure using the Support Plate
(i), M10 Washer(k), Spring Washer(l) and
M10 Bolt(i). Fasten the M10 Bolt using
provided Wrench(p), see Figure 9.

wuu3 lunsalldzlifidasdasans Asrwnsaanzsauin 10 w.u. wiadaanls

m Install Arm to the Pole

Install Swivel Arm(d1,d2) to the
Pole(a). Fasten the bolt with

supplied Allen Key(o). Attach the d2 1
Wire Clip(n1,n2) to the Pole(a)
and Swivel Arm(d1). o

@
o

ARAYuaNsUan wazreSandaanduLan d1




m Attach the Side VESA Plates to the Monitors

dusuuruiuaad

For Monitor with Flat Back For Monitor with Curved or
finwwan el WnAundeannaiiinas Recessed Back
ldang (q) ldyasas lunsdinasaalds wiaivgu dans ()

Attach the Center VESA Plate to the Monitor

dn3uaathan

For Monitor with Flat Back For Monitor with Curved or

- v v .. Recessed Back
ALWAN €2 LNNUNAYIANAULRAS

1dang () ldyasas lunsdindvaalds wiafivau ldans ()

5




Slide the Side Monitors onto the Head of Swivel Arm

amsunuusulaa

Slide the monitor onto the head of Swivel
Arm(d1) as shown in the above diagram.

ganaadudinlinsesasiwan

Install the security Nut(f1). Make sure the
security nut is installed before you rotate
the monitor.

ldilamdnadunaunauiinisuyuas

Slide the Center Monitor onto the Head of Monitor Arm

g wmsuaathan

Slide the monitor onto the head of
Monitor Arm(d2) as shown in the above
diagram.

ananduainlinsesasiwan

Install the M4x6 Bolt(f2). Make sure the
bolt is installed before you rotate the
monitor.

ldansdaadunaunauiinisuyuan




m Fix the Tilt Angle of Side and Center Monitors

i .~.:l

6 HNu-Lg (38
Aulhnuudiug

WIRUNAANIN

Tighten the bolt with the supplied Allen Key(o)
to fix the tilt angle.

Fasten the grub screw in monitor arm to fix
the tilting angle by provided Allen Key(o).

Adjust the Level of Monitors and Manage the Wires

Ignore this step if
monitors are level

If one monitor is lower, remove the Nut(f1)
and turn the bolt counter-clockwise with
supplied Allen key(o) to raise the monitor.
Install the Nut(f1) after the adjustment.
3aUSuAIINge-ANTasa A udg
miﬂi“uﬁmﬁmlmﬂam f1 aandau
wazldnduAuladsuesa

Manage the wires and store the Allen keys(o)
in Wire Clip(n1) for future use.

dan1siaudgLdnnesaaany wWanlny
wuszidauBausay




